GENUINE ACCESSORIES

G OBI Intelligent Designs 2000 Corp.

Denver, Colorado 80211
RALKS wunw. GOBIRACKS.com

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessoties. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fastering security.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welhicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked position.  Alllong loads such as, but not linated to sailboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before intering car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smooth operation. Use graphite or similar diy
lubricant to help this. Locks are designed to deter vandalism and theft. ERemowe valuable gear if your
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

* For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carriers and accessories for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hdts of this product.
Review all instnactions carefially.

Loof rack requires OEM roof rails to mount

o

Installation Instructions for QORI 935-02 TOYOTA 4 RUNNER RACK perr w0 GTAR9G03R | SHEET | oF 8§




GOBJ

RALKS

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

INSTALLATION INSTRUCTIONS

Included m Jat
Letter Description Location Quantity
A GOBI TOYOTA 4 RUNNER 3RD GEN ROOF FACEK Mlain ho 1
E WIND DEFLECTOE. FUBBEE. FROTECTIVE STEIP pre-asserhled 1
{__1 WIND DEFLECTOR. banded to rack 1
I WIND DEFLECTOR. BRACKETS IN BAG #2 handed to rack )
WIND DEFLECTOR. HARDWARE
F All wind deflector hardware is located in Bag =2 which BAG#2 1
is attached to wind deflector and banded to roof rack banded to
wind deflector
F OBl FRONT ADJIUSTABLE SUPPORT BRACKETS Haidio B ¥,
DEIVEE AND PASSENGER SIDE
Fa GOBI MIDDLE AND FEAR SUPPORT BEACKETS 2-1/2" | Hardware Box 4
FOBI ROOF MOUNT BEACKET HARDAARE
CONTENTS: g 5/16" x 3/4" 33 button head screws
) #- 316" 33 lock washers BACG #3 1

G 2. 5/16" 55 Flat washers Hardware Box

4 312" 134" "T" mats

1-Torx wretich T-25

1- 316" Allen wrench

GOBI RACK BREACKET HARDWARE
CONTENTS: 12-3/8" x1" 33 Hex Bolt
; BAG #4
H 24 3/3" 33 Flat washers st 1
12- 3/5" Nylack nuts
- Rubber pads black

BAG#2 BAGH#3I BAG#H4 NOTE:Ro

=]

f rack requires OEM roof rails to mount

Installation Instructions for GOBI 9502 TOYOTA 4 RUNNER RACK

PerI w0 GTARPA0SE

SHEET 2 oF 8§




G OBI IntelliFent Degigns 2000 Coxp.
G Denver, Colorado 80211
> wunw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

The rach st be ingrected before each e fo malte corfaan affaclmerts are secire, and for avidence of
HWear. Isuse of the rackor falire fo cbserve fhe mepefachorar s insirucfions a5 fo sfallafion proper
Affcclmnedtt and mayterrayre will void a1y werrepties fhed may be implied by law

IMaTALLATION INSTRUCTIONS:

1- Eefer to the hardware list on page d check andveafy that al hardware is fresent prior to
installati on

2- RHefertopage 3 Fig | andremove screws (#3) located at the end of each roof rail track (#4) both
passenget and driver side using the Torx T-25 wretich located in Bag# 3 of ywouwr hardwrare kit

3- Hefertopage 5 Fig laremove all 4 roaof rail end caps(#3) by lifting slightly on screw tab “A7
and pulling in the direction of arrow “B” . After d] roof rail end caps #5 have been removed
shde out OE LY orignal equipment cross bars (#1) as they are tio longer needed.  Confirme by
shding “T™ rats (#3) located in Bag # 3 irdo roof ral ends as showninFig 1a one into each end
of both roof rail tracks then replace all 4 (#5) end caps and (83) screws and tighten using the Torx
wrenich T-23. NOTE: Boof rack requires OEM roof rails to mount

4 Hefer to page d Fig 2 andinstdl the GOBI support brackets # (Fa) as shown onto all “T7- mats
previouslyinstalled in roof rack rails using the 37167 Allen wrench and the (8% 3/16 -158 x 347
button head screw s, lock washer s and flat washers located in Bag#3 of yowr har derare kit Slide
each GOBIL support bracket asz shown on page 6 Fig 2 approximately 17 from the end of each
roof rail not including end caps (82, Bnug down only at this time uaing the 3167 Allen wrench
located in Bag #3.

- FHefer to page d Fig 2 and attach both #5 (F) sapport brackets located 1n ywour hardwrare box to the
front of the roof rack (#11) making swre to place each support bracket azlabeled Dnvers side and
Fasgenger side.  FPlace a black rubber pad (#10) located in Bag #4 betweenflange (#1 14) of the
roof rack and support bracket 82(F). Use the (#12) 3/=-16 x 17 35 Hex head boalt, washers, lock
washers and rmatslocated m Bag #4 of your hardware kit to secwre the brackets in place.  Finger
tighten only at this time.

B- Refer to paged Fig 2 andplace the Gobi roof rack #11orto the 4 previousy installed GOERI
suppott brackets #7(Fa) as shown, Place a rubber pad (#10) bebareen each suppott bracket and
roof rack flange as before and use the (#12) 3/5-16 x 17 hex head bolts, flat washers and rts located
i1 Bag #4 of the hardware kit to ssowe roof rack in place. Finger ighten only at this time.

7- Hefer to page d and fuly ighten all 4 GOBL sypport brackets #7(Fa) to the roof rail track at this

time uaing the 3167 Allen wrench supplied in your har dware kit Bag #3.
a- Hefer to page d and fuly ighten all 4 GOBIL support trackets #7(Fa) to the roof rack usingtwo

16" hox end wrenches.

Installation Instructions for QORI 95-02 TOYOTA 4 RUNNER RACK rarrwo GT4R9603R | SHEET 3 oF §




G OBI IntelliFent Degigns 2000 Coxp.
G Denver, Colorado 80211
> wunw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

The rack muust be ingpected before each wse fo malte corfan daifackmerts are secure, and for evidence of

Wear, Mswse of fhe rackor fralire fo cbserve e meppfochea s insfrucfions s fo sfalaion proper
Affackmnert and mairterepre will void 2y warradies fhat may be implied by law.

IMETALLATION INSTEUCTIONS CONTIMUEL:

H- EHefer topage T Fig 3 and3a fully ighten both the (#127) 3/2-16 x 17 hex bolts, washers, lock
washers and rats securing support bracket #2(F) to the roof rack flange (#l11a).  Be sure that
bolts(#13) of support bracket #2(F) are stug and that the adhesive foam padisin contact with the
roof top sface. FPlace two strips of masking tape or the like around the two odside corners of
the adjustable foot pad as showti onpage 7 Fig 3 and 3a.  Eemowe the adjustable foot sections
of suppart bracket #2(F) by Puly remoang screws(#13). Clean off the surface below the foot
pad with denatared aleohol to provade a clean bonding sirface. Peel off the adhesive protective
cowver of the double back foam tape then carefully place the adjustable foot section back within
the masking tape boarders. Once adjustable foothas been installed place both bolts (#1353 along
with their rats and washers and finger ighten at this time apply the same procedure to the
opposite side.

10- Eefer toPage 7 Fig 3amake swe that screws (#13) of support bracket 2(F) are sroag bt not tight
then adjust the Drivers side support twacket 2(F) a0 that a distance of no more than (3 7)) is
measuted between the roof top atd the wnderside of the G obi roof rack as shown then fully
tighten screws (#13).  Apply the same procedure to the opposite side.  Onee both support
brackets are fully adjusted and tighteted remove masking tape markers,

11- Eefer topage & Fig. 4 the (#2) fairing comes pre-assembled with faring brackets (#4) attached.
The postian of each attached fairing bracket may not be fixed at the proper height for your
particuar roof line. Adjustments may need to be performed in order for the fainngto form
cottectly to yow wehicles roof line. Begn by attaching the fairing’s center bracket to the middle
slot (#5a) of the Gobi roof rack light bar (85 shown on page & Fig 4, use the W screw s, washers
atid lock roats supplied 1n (Plastic Bag #).  Prowide approxim ately a 1-1727 1o 27 zap between
the fairing atid the 5ol rack outer fube as shown on page 5 Fig da tighten down the center toat
atid sorew at this ime. Proceedto etther the right or left hand side and gl the faring in the
direction of the arows onpage 2 Fig 5 letters "F7 and "G 7 whale pushing down on the faring
towrards the roof top atthe same time. Pull each side until the fairing either makes cortact with
the Gobi roof rack of comesin close provimity, Align Paring tracket (84) to the Gokd light bar
fairing slots at the ends of the G obi light bar (#3) and mnsert the 37 screwr and washer through the
fairing bracket (#4) then through the Golt light ba slot and secure the fairing in place with a 34”7
washer and lock roat. Proceed to the opposite ade and continue attacking the fairing in the same
matiier. Be sure that the faining throughout its length 1smaking contact with the roof top as snug
as possible, fairing brackets may need to be adjusted either up or down and in some cases you
tay bend the fairingbracket to accommodate the fina resdt. If a dight gap should appear
between the veldcle roof and the bottom center of the fairing loosen the center fairing bracket atd
alloar the bracket to relax and the certer of the fairing will make contact with the roof line. Once
the fairingis in the proper position tighten dl fanng bwackets screws firmly,. Roofrack
inistall ation iz complets.

Installation Instructions for QORI 95-02 TOYOTA 4 RUNNER RACK rarrwo GT4R9603R | SHEET 4 OF 8§




G OBI IntelliFent Degigns 2000 Coxp.
G Denver, Colorado 80211
> wunw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK

INSTALLATION INSTRUCTIONS

Fig. 1a

Installation Instructions for QORI 95-02 TOYOTA 4 RUNNER RACK rarrvo GT4R9603R | SHEET S5 OF 8§




GOBJ

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

Installation Instructions for

FOBI 95-02 TOYOTA 4 RUNNER RACK

PerI w0 GTARPA0SE

SHEET § OF 8§




G OBI IntelliFent Degigns 2000 Coxp.
G Denver, Colorado 80211
> wunw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

PASSENGER SIDE “

& djustable
foot pad

Fig. 3a

Ilasking Tape

Fig. 3

Installation Instructions for GOBI 9502 TOYOTA 4 RUNNER RACK rartyn.3T4R9603E | SHEET 7 oOF 8




G OBI IntelliFent Degigns 2000 Coxp.
G Denver, Colorado 80211
> wunw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

& djustable
foot pad

Fig. 3a

Ilasking Tape

Fig. 3

Installation Instructions for GOBI 9502 TOYOTA 4 RUNNER RACK rartyn.3T4R9603E | SHEET 7 oOF 8




GOBJ

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBITOYOTA 4 RUNNER 3RD GEN ROOF RACK
INSTALLATION INSTRUCTIONS

Installation Instructions for

FOBI 95-02 TOYOTA 4 RUNNER RACK

PerI w0 GTARPA0SE

SHEET 8 oF 8§




	Gobi Toyota 4 Runner 95-02 roof rack install page 1
	Gobi Toyota 4 Runner 95-02 roof rack install page 2
	Gobi Toyota 4 Runner 95-02 roof rack install page 3
	Gobi Toyota 4 Runner 95-02 roof rack install page 4
	Gobi Toyota 4 Runner 95-02 roof rack install page 5
	Gobi Toyota 4 Runner 95-02 roof rack install page 6
	Gobi Toyota 4 Runner 95-02 roof rack install page 7 - Copy
	Gobi Toyota 4 Runner 95-02 roof rack install page 7
	Gobi Toyota 4 Runner 95-02 roof rack install page 8

